Multiplication d’'un Monome par Deux Binomes (E)

Simplifiez chaque expression.

1. —5r(=8r° — 2r*)(—2r 4 2)

2. 2p(—2p — 6)(Tp* + 3p°)

w0

52(—82 — 3)(82 +7)

4. —8p(—5p5 + 8104)(—7]95 + 9p4)

Tw?(—9w? + 2w)(9w? — 4w)

Ot

6. —9h3(8h* + 8h?)(—3h* — R?)

7o =8t (8t — %) (9t° — 3t

8. —62(—92* — 2%)(2° — 32%)

0. —9t° (=8t — 1)(—9t + 4)

10. 5t(=8t3 — 7t*) (=9t — 8)
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Multiplication d’'un Monome par Deux Binomes (E)
Réponses

Simplifiez chaque expression.

1. —5r(=8r° — 2r*)(—2r 4 2)
= —80r" 4 60r° + 201

O

- 2p(=2p — 6)(7p" + 3p°)
= —28p° — 96p° — 36p?

w

- —52(—82—3)(8z+7)
— 3202% + 40022 + 1052

- —8p(—5p° + 8p*)(—Tp° + 9p")
= —280p* + 808p!Y — 576p°

t

Tw? (—9w? + 2w) (9w?® — 4dw)
— 567w’ + 378w’ — 56w°

[@))

- —9R*(8h® + 8h%)(—3h* — h¥)
= 21640 + 288%° + 7248

J

=8t (8t — Tt (9t° — 3tY)
= —576t" + 696¢'2 — 168t

8 —62(—92* — 2%)(2° — 327)
— 5428 — 15627 — 182°

=9t (=8t — 1)(—9t +4)
— —648t" + 207t° + 36¢°

©

10. 5t(=8t% — Tt*)(—9t — 8)
= 360t + 635t* + 280t
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